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1 BiE =:A hEfz 39 36 75
2 ERXK shg —k B 39 36 75
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XLLE, 3RERE
4T [RE 1L BAFRT4 41 39 80
4T ZH BA BAFRT4 40 40 80
4T hat Ei BAFTRT4 40 40 80
4T A B 4% 40 40 80
8T At 0 4% 42 39 81
8T X EA FAFRT4 41 40 81
8T HZRK BA BAFRTA 40 41 81
11 =0 XE hEfx 42 40 82
12T NI Z8 —+3 42 41 83
12T =H thE BAFRTA 42 41 83
14T A B BAFRT4 44 40 84
14T RE E—B [>—F-%1452F4 42 42 84
14T % E—EF bEfx 42 42 84
17T WH it F&Efx 45 40 85
17T JIF B BAFTRTA 42 43 85
17T BE =R BAFRTA 42 43 85
20 /R —1h S 45 41 86
21T INEFF 13 FAFRT4 45 42 87
21T Al IEH bEfx 44 43 87
21T =iE E# BAFTRTA 43 44 87
21T INFE KSR BAFTRATA 42 45 87
25T e BAFTRATA 44 44 88
25T JE 8 BAFTRATA 41 47 88
27T Kid 3t S 46 43 89
27T SH & hEfx 45 44 89
27T fEA ML S 45 44 89
27T HiR EfE BAFTRATA 45 44 89
27T {E@ IET =+ 43 46 89
32T HM Ex BAFTRATA 47 44 91
32T hH ErE BAFATA 47 44 91
34T A = BAFTRATA 50 42 92
34T =fa BEA —+3 48 44 92
34T Kk Hits Bz 45 47 92
37 e ik Be#& 48 45 93
38 =R M= BAFATA 47 47 94
39 a HE BEi% 50 46 96
40T AKX A BAFTRATA 50 47 97
40T MR E— Bz 50 47 97
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